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The figures in the margin indicate full marks
for the questions

Answer either in Eﬁglish or in Assamese

1. Answer the following questions as directed :
1x10=10
e SepifR were fran epepiyes e fmn

(@ fU=(56789) and A={7, 8}, write
the complement of A, i.e., A°.

M U={567289 W* A={(7,8, A

RSN T RS A forat |

() If A={L,23,6} and B={7, 89}, find
AnB.
M A={1,23,6} 9% B={7,809}, AnB
Ay =
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(2)

(c) Fill in the blanks : " YarYa=1
1R S 7T A

i) If two sets have no common
elements, then they are called

sets.

M W AR @A NYET B
T, CSfew e 72 Q@M
T | f

(i) If any two rows (or columns) of
a determinant are equal, the value
of the determinant is

It @ RefEe 1o 1R (I TY) 9
o, FAfRedr = =

(d) Given the matrix
a; Gz a3
A=lay az dax
az; Qgg dg3
Write the cofactor of the element a,3.
woTe il (N
a;; Q3 a3
A=l|az ap as;
Q3; Q3zp Q33

s SR SRCATE et 1
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(e)

(9

(h)

()

0

A9/42

(3)

Write True of False :
TR T, e

() The graph of a rational function is
a rectangular hyperbola.

A TR @GR TH <GB SRR

e |

EORT

Define homogeneous function.
SCSA T e fray |

State when two matrices A and B are
conformable for multiplication.

A 9F B (&% [ /R S fem
2

Evaluate :
I [y 341 -
2 2
lim (x+h)*“ -x
h—-0 h

Define inverse of matrix A.

AR R (eremms iy fin |

If z=x8-2x‘2+10x, find the value

of -dﬁ

dx .
i z=x8 -2x72 +10x, %a’mﬁﬂ@m

( Turn Over )



(4)

2. Answer the following questions : 2x5=10
oo fian e e fion
fa) Solve : |
Y P90 :
3x%2-14x+8=0

(b) Find the value of @, if y= Jx .
_ dx 2x+3

My = Jx ’{ﬂ,%?‘ﬂﬁﬁ‘fﬁﬁl

2x+3
(c If e =
2 -2 1
A=(0 1 7
4 3 8

prove that (A)" = A.

i
2 -2 1
A=|0 17
4 38

o9 I @ (A = A.

2 0 4 0
Show that (A+B)'=A"+B".
A9/42 ( Continued )

(d) Given



(S)

A=E§]WB[51]ﬁmﬂnﬁﬂﬁ

ST A(A+B)'=A"+B".

(e) When is a function y= f(x) said to be
continuous at a point x=a?

QA @B Ty = flx) @ x = afige
wffen 3fer T =W 2

3. Answer any four of the following questions :
5x4=20
oS il epprRd R et sifRom Tee fin

(a) If u and v are differentiable functions
of x and y=uv, then prove that

@:i(ﬂv’ u..@-{-y gE.

dx dx dc  dx
Mt u AF v, xI T W, EF y=up, o9
FT|A

dy d(uv] u@+u-%

dx dx dc  dx

(b) 1If x=2t+3 and y=t?-1, prove that
dy_x-3
dx 2
M x=2t+3 qF y=t%-1, 499 ] @
dy _x-3
dx 2
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(©

(@)

(e)

A9/42

(6)

Evaluate :

I+ fAfg 91 ¢
b+d ¢ b
c (c+a) a
b a (a+b

If u=x?y+xy*, find the value of ‘;—“
x
g i
oy
I u=x y+xy4 o au? T fAdfa
ox dy
I
Find :
T+ 9y 341 :

Ixzex dx

Find out the equilibrium price and
quantity of the following market model :

wore figl J@E WIEOR [ ST [{OHE

" ) AR R 9

Qd =15"2P
Q, =-5+2P
Q4 =0s

( Continued )



(7)

4. Answer the following questions : 10x4=40
O PRI Tad iy
(@) () Differentiate between lim f(x) and
f[a] X—=a 2 )
chi_r)r}x flX) 9% fl@)3 TEe 4 ALy
fern 1
(i) f00=2"% show thatf[l—_—'EJ = X,
X 1+x 2
1w = e A (175 =x

(iii) If

fi=X2 for mwl
=2 for x=1

show that f(x)is continuousatx=1. 2

Tt

x21

fld=

afsm x#1
x &
=2 @S x=1

@9l @ x=1 R flx Fewco
3o |
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(8)

(iv) Define with examples : 2+2=4

TR CTCS kel i
(1) Null set
e w2
(2) Subset
Topiaf
Or / %91
If
2 3 4 1 3 6
A=l 1 2 3|land B=|-1 2 1
-1 -2 3 7 2 3
find the value of AB and BA. _ 5+5=10
T
2 3 4 1 3 6
A=| 1 2 3|9¥B=(-121
-1 -2 3 7 2 3
AB 9§ BAT ¥ Ay ¥41 1
(b) Solve (by using Cramer’s rule) : 10

S T (AR eee FR)
2x; +x9 +3x3 =15
x; -2xg +5x3 =13
4x; +3x9 —x3 =11

A9/42 . ( Continued )



(9)

Or / 9211

Solve (by matrix inversion method) :

S 91 (RS (e fRawe) -
2x-3y+5z=11
Sx+2y-7z=-12
-4x+3y+z=5

© () y=x?+10)(x®-2x+16), find the
value of g—% using product rule of
differentiation. : 3
y=(x%+10)(x® -2x+16) TW@W RH
SR @I NS I IR %? =
fAda w1
(i) 1If
y=1+JE
1-Jx
find the value of @ 5
dx

R

y=1+J§
1-Jx

Y 3y Befy 710
dx

(i) Write the quotient rule of
differentiation. 2

ST ST QNEI Afsewr fora |
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(d)

A9/42

(10 )

Or / 9]

Find the value : 3+3+4=10

' I fadfg 941 -

N PR
(9 I———x4

2x+2
dx
(x? +2x-10)3

(i) |
(i) [*(x? -2x+10)dx

! _ B
I g=20- %) 54 e veloe of
(x{" +3x5)
'Y na %Y
9x dxy

B
= {_2_':_1__@ 3 ﬂ E ﬂq T
Ay w11
(i) If the marginal cost function is
MC =120% -40+5, where Q is
output, find the total cost function. 3
T 2fFF I Fo9 MC =1202 —-4Q+5
R, TS Q T IWAR, P IW Fe
fadfg 11 '
(ii)) [e™dx="? ' ' 1
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(11 )

Or / =271

(i) Examine whether the matrix

4

satisfiles the matrix equation
A% -5A+71=0, where I and O
denote respectively identity matrix

-and null matrix of order 2 x2. 5
: 3 1 "
e A=[ . 2} 2’7,

A? —5A +7I = O NIIUWH Sy FRI
G R W 90, TS I WF O FAAE
2x2 TR T AFEEF WE W

Moo @R |

(i) Write a note on the significance of
static input-output model. 5

B3 Tom-Teow wIRY weors eoRw
@1 (Ol o1 |

* %k k
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